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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) weeff mayem 379 997 -u9 W AT JrfHeard: o |

Candidate must write first his/her Roll No. on the question paper
compulsorily.

) weft I & AR B |

All the questions are compulsory.

(3) T T T I & TS ST-TIh H & ford |

Write the answer to each question in the given answer-book only.
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(4) T w1 1 AT @UE &, 3 ¥t o ITR T |1 7 ford |

For questions having more than one part, the answers to those parts are to

be written together in continuity.

(5) Y- & &<t 9 S TR § fopeht Jehr it Ffe /St / fatiemme g1 W
f&=t T o e <l &1 A |
If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should be

treated valid.

(6) T SHHTSH 16 | 22 T AT forehed § |

There are internal choices in Q. No. 16 to 22.

g - A
SECTION - A
1. agﬁao—«q"fwr:
ot 9T & IR 1 TRt forehed T R ST -gfaaent 1 farRaw -

Multiple Choice Questions :

Write the correct option of answer of the following questions in the answer-
book :

(i) Fe+H,0——Fe;0,+H,
IR TR < Ffera THTentT § Fe T 0T BT —
(30 1 (% 2
@ 3 (@ 4
Fe + H,0 —— Fe;04 + H,
Coefficient of Fe in balanced equation of the above reaction will be
A) 1 B) 2
<© 3 (D) 4

P-07-Science



(i) <& T Iufeq 3t & —

(37) 3Mieafeteh 3Tt (F) TN I

(@) TTEH ITA (@) oifdes 3T

An acid present in curd is

(A) Oxalic acid (B) Tartaric acid

(C) Methanoic acid (D) Lactic acid 1

(iii) ST T TH 31T ATeAh & —

(37) IR @
@) " @ f=
The best conductor of heat is
(A) Copper (B) Lead
(C) Mercury (D) Zinc 1
(iv) HIEH o IR TR TUE 8 —
(37) —OH @ -C-
(H)
y H
@) - C\\o @ - (‘C|) —-OH

Functional group present in ketone is

(A) -OH B) - (H; -
0
JH
© -C (D) — ﬁ ~OH 1
O 0
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(v) WHd T ged Ush aF 1 W 7, S Hafed g —

(37) MU E () IESH Y
@) v (]) UNE=RT
The heart in human beings is part of the system for
(A) Nutrition (B) Excretion
(C) Respiration (D) Circulation
(vi) TU1 5 To5gi & ot 9 &g B 1 S fehdeh gRIBIAT R 7
(37) FhaeEs () Eem
(®) R BRI (@)
Who does the work of opening and closing of pore in leaf ?
(A) Chloroplast (B) Xylem
(C) Guard cell (D) Phloem
(vii) T s St 3 afy e w7
(37) g it (%) mise 1y
(®) g (@) AR
Which endocrine gland stimulates growth in all organs ?
(A) Pituitary gland (B) Thyroid gland
(C) Adrenal gland (D) Pancreas
(viii) ST T59 § Gehe TF H1oher QM1 SUTRIT BId &, I I5F haalTd & —
(30) THier () W
@) Iwafert (@) THET
Flower called, when the flower contains both stamen and pistil
(A) Unisexual (B) Self-pollination
(C) Bisexual (D) Cross pollination
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(ix) T80 ¥ ot Torge B & —
(37) XX @) XY
@) XXX @ YY

Men have sex chromosomes

(A) XX (B) XY

O XXX (D) YY 1
(x) U SAfad GHAA quUT § 3 WX @l 7 | =AfFd qe 35eh wiifers & o= gl

e 4 gt —

@) 1S @) 6

@ 3 @ 9

A man is standing 3 metre away from a plane mirror. The distance

between the man and its image in metre will be

(A) 15 B) 6
€ 3 (D) 9 1
(xi) TR 3T9ede sl T T AR sin i = a 3T sin r = b &, AT UG ()
—aﬁ-rn_
b
() p=ab &) n=3
@ n=y @ n=nfab

In the phenomenon of refraction of light, if sin i = a and sin r = b, then

refractive index (p) will be

b
(A) p=ab B) n=3

©) n=y (D) u=n/ab 1
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(xii) 3T gTe v focifera gt 1 HRu e —

(31) ehIvH (§) dgHSHT 3T9ed
@) oo (@) e
Advance sunrise and delayed sunset are due to
(A) scattering (B) atmospheric refraction
(C) dispersion (D) reflection
(xiii) TeT T Bryg=menr {0 < fore fomem o e

(30) e @) i

@ x (@ r

The angle of deviation for the given triangular prism is

Incident ray Emergent ray

Q R
(A) e B) 1
©) x D)
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(xiv) Ty Iuehtott o vyeTeh AR (372F) 1 AN o STaT &

CIREECEEIC R R () FCAIUFHEIH

@) TS hETH @ frEssEIH

Earth wire is used in the electric instruments as

(A) electricity saver (B) safety measure

(C) fuse (D) regulator 1
(xv) OIS TTeteh o foTu, “gfémT & 37ss fram” o St gurfan & —

(31) geehr &9 & femm () e % b & i feam

(@) forgget e < femm (8) T & g T

For a current carrying conductor, in the “right hand thumb rule”, the

thumb points towards the

(A) direction of magnetic field.

(B) direction of earth’s magnetic field.

(C) direction of electric current.

(D) None of these 1

2. o v o gfd IR

Fill in the blank places :
() IS8 o ST foISH & UTed T8 IS I T4 T A1 2|

Name of the nitrogen containing gas obtained by thermal decomposition

of lead nitrate is 1
(i) HC! o To=SH & I 0T 1 TETRIHS 93 2|

Chemical formula of anion obtained by dissociation of HCI is

R 1
(iti) C;Hg 310 H U HEGISIh S hl T 2l

Number of covalent bonds present in C;Hg molecule is 1
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(iv) T T Taeh ATSLISH] STIRTSE ITGT i TR & FEEEANERCT]
T I 7 |

An artificial kidney is a device to remove nitrogenous waste products
from the blood through

(v) < dfehT hIfTehT % HEd Wiet €M FEAE |
The gap between two neurons is called a .
(vi) vfafes 6t S=18 (h) 3R foa & S (h) * U@ MeAF gdor >
FEATAI & |

The ratio of the height of the image (h') and the height of the object (h) is

called of the spherical mirror.
(vii) rEi-gfse gy fFamor § o 3TN BT R |

lens is useful in correcting far-sightedness.

3. fd TeRTCHeh W9« (ST ohT 3T Ush Teg AT Ueh Ut § foiflaw 1)

Very Short Answer Questions : (Answer the questions in one word or in one

line.)
(i) iae 5 qfen < ary ity g arg w1 am fafew |

Write name of the second metal mixed with copper in brass.
(i) TEHL, STHH TAT STAEH T F T Hleh ga AT 1 14 T |

Select and write name of the liquid non-metal among sulphur, bromine

and iodine.

(iii) CH;—C = CH %1 =™ foifiam |
Write the name of CH; — C = CH.

(iv) P aen e aeg S HH A UM A Ea ad 8 ?
In which plant part resin and gum are stored ?
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(v) TIETSh ST b= BT 9HT TS, TR 37T AT g0 Sl (I Shidar 2 ?

Which part of the brain controls blood pressure, salivation and vomiting ? 1
(vi) g Sfiere) ST Sshes T o T forfa |

Write name of two bacteria borne infectious diseases. 1
(vii) HES % &I hl ST =0 6 =AW # F, 9l o sreq qiei | s g

Jgua/afea e

In the experiment of Mendel’s law of inheritance of traits, the

proportion/percentage of dwarf plants found in plants obtained in F,
progeny was . 1

(viii) Tl < o foru foie gt (v), fdfsie g8t (v) w& wrpd gl () o sy
forfere |

Write the relation between object distance (u), image distance (v) and

focal length (f) for a spherical lens. 1
(ix) = T S G TN YAt o H18 o (AT a1 g ?

Which part of the eye controls the size of the pupil ? 1
(x) TR § ST 1 Ueh el fafa |

Write one example of consumer in ecosystem. 1

g —§
SECTION - B

clefTlicHen A3 ¢

Short Answer Questions :
4. NayCOy) + 2HC/ () — [X] + HyO() + COyy

IHeR JTfsRaT ® s [X] 1 TaReS M 9 93 foifan |
Na,COs ) + 2HC/ () —> [X] + H)O() + COyy
Write chemical name and formula of compound [X] in above reaction. 2
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5. “urqu fegga i gt gt & |7
ST HYA o FARTITEAT Teq01 & fote w3 srafera syt w1 Fafa Hifsm |

“Metals are good conductors of electricity.”

Draw the systematic equipment used for laboratory testing of above statement. 2

6. St <ht IufRfd O B SHUS W HEH T W HUST % R &l Tl & 7 BRI
forfam |

Why the cloth becomes clean on applying soap on the dirty clothes in presence

of water ? Write the reason. 2

7. TN 0] hl g forg w1 1 e shifv |

Draw electron dot structure of ethene molecule. 2

8.  mfTYH ki @ fafr =6 gmemsy |

Explain two methods of contraception. 1+1=2

9. G (TT) T UG M (tt) Tl § F, &I Teh o AU hl ST I G ATAT

o
W= d4q18¢ |

Draw a line diagram showing inheritance of traits upto F, progeny between

pure tall (TT) and pure short (tt) plants. 2

10. Wb 10 Q Tfaligss | 3A €W 2 HhUS doh JaTfed shl STl § | FUST T Icq~T SoA]
T HH 14 SHIT |

3A current is passed through a 10 Q resistor for 2 seconds. Find out the value

of heat produced in the coil. 2
P-07-Science
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11. T ity o= o fog A 9 B % 788 g Wiale 1 <hifa -
30 30

30

A o—AAAN— ———e B

v AMMNA———
6Q

Find out equivalent resistance between the points A and B in the following
circuit diagram : 2
3Q 3Q

— A AAAA——
30

6 Q

12. Tereht arral aieTforent o it wa 3Heh IR 3R gehia & {1 sl et w
o foT formr s |

Draw diagram to show lines of magnetic field inside and around a current

carrying solenoid. 2

13. Ueh B Yo o I b & {@1eAi ol ot 9913 |

Draw magnetic field lines of a bar magnet. 2

14. <= F9er < G991 ol H i o €l aiiehi sl HEITST |

Explain two ways to managing the garbage problem. 1+1=2

15. 3TER *[@e = fafim 9t & o1 wftre aui i |
Describe in brief different trophic levels of a food chain. 2
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SECTION - C
Z‘ﬂﬁ JALTcHh T34
Long Answer Questions :
16. (i) TR 3% Ui 1 Tafe g3 forfa |

(i) T T W Rt 317 IR haR R 81 A1 & 7 JUFe T THIhLT

TR THTSY |

(i) Write chemical formula of Plaster of Paris.
(i) Why Plaster of Paris becomes hard on mixing water ? Explain by giving

suitable chemical equation. 1+2=3

3AYET/OR

() sk Eret 1 TR Tm faRan |

(i) <heh JOTRM TR TS 1 B 1T & 7 ST T (e THTHT gohl THETET |

(i)  Write chemical name of baking soda.

(i) Why cake becomes soft and spongy ? Explain by giving suitable

chemical equation.

1+2=3

17. <z framd afcases & %9 9 v 8 afEa ad € 7 v Iergor gro 9wesT |

Which part of the brain controls involuntary actions ? Explain with an

example. 1+2=3
3ET/OR

U1 Fferd STHH 1 ATH q1 Q 1 FHATST |

Write name and two functions of the hormone secreted by testes. 1+2=3

P-07-Science
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18 | o T = 31 BT ATHIhd == S9T5Y |

Draw a labelled diagram of human male reproductive system. 3

3AYAT/OR

. ‘-~
Hldda;‘-lldd ST dA bl HHTIshd T=H §18U |

Draw a labelled diagram of human female reproductive system. 3

19. (i) Torga favam=m = afeiiva Shife | saept ST A oft faRea |
(i) Torga favaT=r & AT9A % folw @ @1 o M 4 fofan Sran @ aen 3§ uiey §
fra s O QTSR ?
(iii) 3T o fom o faver (V) Ta faega 9w/ (1) 3 999 3% (3T@) 18T |

(i) Define electric potential difference. Write its SI unit.

(i1)) Which device is used for measurement of electric potential difference

and in which order is it connected in the circuit ?

(iii) Draw a graph between potential difference (V) and electric current (I)

according to Ohm’s law. 1+1+1=3
JYET/OR
(i) Torga ufatrg =t afeafya shifTe | saept ST o oft fofan |
(i) Torga amr < | % fofu s @1 I sM § fora Srar @ qen s§ uiey § ford
A H AT A ?
(i) 378 o Frm % YRR e o fore amiferd ferega uftue o smT3w |

(i) Define electric resistance. Write its SI unit.

(i1)) Which device is used for measurement of electric current and in which

order is it connected in the circuit ?
(iii)) Draw a labelled electric circuit diagram to practical study of Ohm’s law.

1+1+1=3
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SECTION -D

FrayTens w97

Essay Type Questions :

20. (i) PIFA % <& § IS 7Y 1 AW fAfg |
(i) I (II) HATFTEE + BIESISTH —> THIUL + A
ST 316g - HHIeRT0T & fote wgfora Tamafes weiertor forfaw |

(i) IR & B ATFITES T ITTI o T o [oT¢ FafRyd 3T i b
HINT |

(i) Write name of the gas obtained on burning of coal.

(i1)) Copper (II) oxide + Hydrogen —— Copper + Water
Write balanced chemical equation for above word-equation.

(iii)) Draw the systematic equipment for exhibition of oxidation of copper into
copper oxide. 1+1+2=4

JAYET/OR
(i)  3TT=RH I IRUTINT HT |
(i) 3AFE + B Hohe —> T Hohe + hiuT
ST 316g - HH1eRT0T & foTe wgfora Tramafes weiertor forfaw |

(iii) MR Tethe o foeem H gat, are i Hidl i AffFa & Tl & fore
Fraferd 3us @ ffa Fifv |

(i) Define reduction.
(i1) Iron + Copper sulphate —— Iron sulphate + Copper
Write balanced chemical equation for above word-equation.

(iii)) Draw the systematic equipment for exhibition of reaction of iron nails
dipped in solution of copper sulphate. 1+1+2=4
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21. (i) ThII-TINYT YA o QI Hfed T3 bl THEITST |
(i) T Uil o STIIE HIC T THIfhd o ST |

(1) Explain the events occurring during the photosynthesis process.
(i1)) Draw a labelled diagram of cross-section of a leaf. 2+2=4

3AYET/OR
(i) il | T80 o Gor 9 ¢ g sl TTshT THEsT |

(i) Tl 9§ 1Y BT AHIfehd o FATST |

(1) Explain the process of opening and closing of stomata in leaves.

(i1)) Draw a labelled diagram of open and closed stomatal pore. 2+2=4

22. (i) Tl gdor fohd hed 8 7
(ii) Tt gdur & g w1 aRuTiia Sk |
(iii) QT <18 <hl & + 4.0 D 2, 1 36h! BIhH gl T HINT |

(1) What is a spherical mirror ?

(i1)) Define the pole of a spherical mirror.

(iii) If the power of a lens is + 4.0 D, then find its focal length. 1+1+2=4
YT/ OR

(i) " 1 LT forll FEd & 7

(i) o9 o J&F 3187 ! TRATING HIT |

(iii) =fe et gdor 6 ashar B 14 om 7,  39h! Biehg gl ra HIfT |

(i) What is magnification of a lens ?

(i) Define the principal axis of the lens.

(iii) If the radius of curvature of a spherical mirror is 14 c¢m, then find its
focal length.
1+1+2=4
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